Table 12. Calculation of value and APV with Ku
	Year
	0
	1
	2
	3
	4

	Interest payments
	
	42,000.00
	27,300.00
	8,400.00
	4,200.00

	Tax savings TS = T×I (T=35%)
	
	14,700.00
	9,555.00
	2,940.00
	1,470.00

	Free cash flow FCF
	
	 170,625.00 
	 195,750.00 
	 220,875.00 
	 253,399.45 

	Capital Cash Flow (CCF) = FCF + Tax savings
	
	185,325.00
	205,305.00
	223,815.00
	254,869.45

	Ku
	
	15.10%
	15.10%
	15.10%
	15.10%

	PV (CCF) at Ku
	
	607,978.04
	
	
	

	Adjusted NPV (APV)
	
	
	
	
	

	PV(FCF at Ku)
	
	585,228.51
	
	
	

	PV(TS at Ku)

	
	22,749.53
	
	
	

	PV(FCF at Ku) + PV(TS at Ku)
	
	607,978.04
	
	
	

	NPV
	
	107,978.04
	
	
	


Source: Elaborated by authors.

